
1. HEDVA  

1. D      
2. C      
3.1 A, 3.2 N, 3.3 A, 3.4 A   

 
4.  mrtvou  
     k  

   
 

5.1 (ona ) nebyla lvice  ) 
5.2 ona byla ticha 
5.3 rostou 

: 3 body 
, body za 

se neode  

  
2.  
 
1. C      
2.1 rovnost, 2.   obou : 2 body 

, body za 
se neode  

3.1 N, 3.2 N, 3.3 A, 3.4 N   
 

4. C      
5.1 D, 5.2 A, 5.3 C    : 3 body 

, body za 
se neode  

6.1 A, 6.2 A, 6.3 N, 6.4 A   
 

3. V , max.  

1.1 N, 1.2 N, 1.3 A, 1.4 N   
 

2.       
3. D      
4.1 A, 4.2 N, 4.3 A, 4.4 N   

 
5. B      
6.1 , 6.2 , 6.3   : 3 body 

, body za 
se neode  

 


